








Instructions for the Endogenous-Free Treatment

GENERAL INSTRUCTIONS

This is an experiment in the economics of strategic decision-making. Various research agencies have
provided funds for this research. If you follow the instructions closely and make appropriate decisions, you can earn
an appreciable amount of money, which will be paid to you in cash.

The currency used in the experiment is francs. Francs will be converted to U.S. Dollars at a rate of _100
francs to _1_ dollar. You have already earned a $20.00 participation fee (this includes the $7 show up fee). The
experiment will consist of 30 periods and at the end of the experiment we sum your total earnings for all 30 periods
and convert them to a U.S. dollar payment.

It is very important that you remain silent and do not look at others’ decisions (screens). If you have any
questions, or need assistance of any kind, please raise your hand and an experimenter will come to you. If you talk,
laugh, exclaim out loud, etc., you will be asked to leave and you will not be paid. We expect and appreciate you
following the laboratory's rules. The remainder of the instructions will describe the decisions you may face in each
period.

The participants in today’s experiment will be randomly assigned into two-participant groups. You and the
other participant in your group will make choices that will determine your payoffs. The experiment contains 30
periods. You will remain within the same two-participant group for all 30 periods.

In each period of the experiment one of the two participants in your group will receive the reward. The
reward is worth 100 francs. Each period of the experiment consists of as many as three decision stages.

YOUR DECISION IN STAGE 1
In Stage 1, both participants will have the opportunity to choose whether they want to Flip a computer coin
in order to determine who will receive the reward. An example of your decision screen is shown below.

Would you like to flip the coin?

Please answer Flip or Don't Flip.

Flip ¢ ¢ DontFlip

If you want to flip the coin, check Flip. If both participants choose Flip, then both participants will enter
Stage 2. However, if either participant chooses Don’t Flip, then both participants will skip Stage 2 and enter Stage
3.

YOUR DECISION IN STAGE 2

If both participants choose Flip in Stage 1, the computer will flip a coin. There is a 50% chance the coin
lands heads, and 50% chance the coin lands tails. If the computer coin lands heads one participant will receive the
reward, if it lands tails, the other participant receives the reward. The flip outcome determines who receives the
reward. So, there are two possible payoffs:

If You Receive the Reward Earnings = 100

If The Other Participant Receives the Reward Earnings =0

In Stage 2, both participants will have to choose whether they want to Agree to the outcome of a computer
coin flip. An example of your decision screen is shown below.
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The result of the coinflip is that you receive the 100 reward.

You can choose to agree, or not, with that outcome.
Please choose to Agree or Don't Agree.

If you choose Don't Agree, you and the other participant will proceed to the next stage and bid.

Agree (" ¢ DontAgree

—

If you want to agree, check Agree. If both participants choose to Agree, the computer will assign earnings
to participants according to the coin flip and the period is over, meaning that neither participant enters Stage 3.
However, if either participant chooses Don’t Agree, then both participants will enter Stage 3.

YOUR DECISION IN STAGE 3

If either participant checked Don’t Flip in Stage 1 or checked Don’t Agree in Stage 2, each participant
enters Stage 3. In this stage, each participant may bid for the 100 franc reward. You may bid any integer number
of francs between 0 and 100. An example of your decision screen is shown below.

The reward is worth 100 francs .
You may bid any integer number of francs between 0 and 100

How much would you like to bid?
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The more you bid, the more likely you are to receive the reward. The more the other participant bids, the
less likely you are to receive the reward. Specifically, for each franc you bid, you will receive 1 lottery ticket and
for each franc the other participant bids, the other participant will receives 1 lottery ticket. After both participants
make their bids, the computer will draw randomly one ticket among all the tickets purchased by you and the other
participant. The owner of the winning ticket receives the reward of 100 francs. Each ticket has an equal chance of
winning. So your chance of receiving the reward is given by the number of tickets you buy divided by the total
number of tickets bought by you and the other participant.

Chance of Receiving the Reward = Your Total Lottery Tickets
Sum of Your and Other Participant’s Lottery Tickets

37



If both participants bid zero the reward is randomly assigned to one of the two participants.

After both participants make their bids, your earnings for the period are calculated. Regardless of who
receives the reward, both participants will have to pay their bids. So your earnings will be calculated in the
following way:

If either participant decided Don’t Flip in Stage 1:

If you receive the reward: Earnings = 100 — Your Bid

If you do not receive the reward: Earnings = 0 — Your Bid

If both participants decided Flip in Stage 1, but either participant decided Don’t Agree in Stage 2:
If you receive the reward: Earnings = 100 — Your Bid

If you do not receive the reward: Earnings = 0 — Your Bid

Remember you have already earned a $20.00 participation fee (equivalent to 2,000 francs). In any period,
you may receive either positive or negative earnings. At the end of the experiment we will sum the total earnings for
all 30 periods of the experiment and convert them to a U.S. dollar payment. If the summed earnings are negative, we
will subtract them from your participation fee. If the summed earnings are positive, we will add them to your
participation fee.

An Example
This is a hypothetical example used to illustrate how the computer determines who wins the reward of 100

francs. If you bid 30 francs and the other participant bids 20 francs, then you receive 30 lottery tickets and the other
participant receives 20 lottery tickets. Then the computer randomly draws one lottery ticket out of 50 (30 + 20). As
you can see, you have a higher chance of receiving the reward, 0.60 = 30/50. The other participant has a 0.40 =
20/50 chance of receiving the reward.

After both participants bid, the computer will make a random draw that will determine who receives the
reward. Then the computer will calculate your period earnings based on your bid and whether you received the
reward or not.

At the end of each period, the computer will display all decision in all three stages on the outcome screen.
Once the outcome screen is displayed you should record your results for the period on your Personal Record Sheet
under the appropriate heading. An example of the outcome screen is shown below.

You agreed to the Coin Flip: Agree ¢ (" DontAgree

The other participant agreed to the Coin Flip: Agree " ¢ DontAgree

Your bid:
The other participant's bid:

Did you receive the 100 reward:?

Total earnings for this period:

IMPORTANT NOTES

In each period, you and another participant have the opportunity to receive a reward worth 100 francs. In
Stage 1 each participant chooses either Flip or Don’t Flip. If both participants choose Flip, then the experiment
moves to Stage 2. In Stage 2 the outcome of the coin flip is revealed, and both participants choose either Agree or
Don’t Agree. If both participants choose Agree, the outcome of the coin flip is made final and the payoffs are
computed for each participant. On the other hand, if either participant chooses Don’t Flip in Stage 1 or if either
participant chooses Don’t Agree in Stage 2, both participants enter Stage 3. Then, each participant submits a bid for
the reward, and the reward is allocated by a random computerized draw. Are there any questions?
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Instructions for the Endogenous-Costly Treatment

GENERAL INSTRUCTIONS

This is an experiment in the economics of strategic decision-making. Various research agencies have
provided funds for this research. If you follow the instructions closely and make appropriate decisions, you can earn
an appreciable amount of money, which will be paid to you in cash.

The currency used in the experiment is francs. Francs will be converted to U.S. Dollars at a rate of _100
francs to _1_ dollar. You have already earned a $20.00 participation fee (this includes the $7 show up fee). The
experiment will consist of 30 periods and at the end of the experiment we sum your total earnings for all 30 periods
and convert them to a U.S. dollar payment.

It is very important that you remain silent and do not look at others’ decisions (screens). If you have any
questions, or need assistance of any kind, please raise your hand and an experimenter will come to you. If you talk,
laugh, exclaim out loud, etc., you will be asked to leave and you will not be paid. We expect and appreciate you
following the laboratory's rules. The remainder of the instructions will describe the decisions you may face in each
period.

The participants in today’s experiment will be randomly assigned into two-participant groups. You and the
other participant in your group will make choices that will determine your payoffs. The experiment contains 30
periods. You will remain within the same two-participant group for all 30 periods.

In each period of the experiment one of the two participants in your group will receive the reward. The
reward is worth 100 francs. Each period of the experiment consists of as many as three decision stages.

YOUR DECISION IN STAGE 1
In Stage 1, both participants will have the opportunity to choose whether they want to Flip a computer coin
in order to determine who will receive the reward. An example of your decision screen is shown below.

Would you like to flip the coin?
Please answer Flip or Don't Flip.

If both participants choose to flip, you will be charged 5.

Flip ¢ ¢ DontFlip

If you want to flip the coin, check Flip. If both participants choose Flip, the computer will subtract 5
francs from both participants’ earnings for the period, and both participants will enter Stage 2. However, if either
participant chooses Don’t Flip, then both participants will skip Stage 2 and enter Stage 3, and the 5 francs will not
be subtracted from either participant.

YOUR DECISION IN STAGE 2

If both participants choose Flip in Stage 1, the computer will flip a coin. There is a 50% chance the coin
lands heads, and 50% chance the coin lands tails. If the computer coin lands heads one participant will receive the
reward, if it lands tails, the other participant receives the reward. The flip outcome determines who receives the
reward. So, there are two possible payoffs:

If You Receive the Reward Earnings = 100 — 5 francs

If The Other Participant Receives the Reward Earnings = 0 — 5 francs

39



In Stage 2, both participants will have to choose whether they want to Agree to the outcome of a computer
coin flip. An example of your decision screen is shown below.

The result of the coin flip is that you receive the 100 reward.

You can choose to agree, or not, with that outcome.
Please choose to Agree or Don't Agree.

If you choose Don't Agree, you and the other participant will proceed to the next stage and bid.

Agree (" (" Don'tAgree

—
|
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If you want to agree, check Agree. If both participants choose to Agree, the computer will assign earnings
to participants according to the coin flip and the period is over, meaning that neither participant enters Stage 3.
However, if either participant chooses Don’t Agree, then both participants will enter Stage 3, but the 5 francs will
be subtracted from both participants since they have agreed in Stage 1 to flip a coin.

YOUR DECISION IN STAGE 3

If either participant checked Don’t Flip in Stage 1 or checked Don’t Agree in Stage 2, each participant
enters Stage 3. In this stage, each participant may bid for the 100 franc reward. You may bid any integer number
of francs between 0 and 100. An example of your decision screen is shown below.

The reward is worth 100 francs .
You may bid any integer number of francs between 0 and 100

How much would you like to bid?

]

—
‘ n
2

The more you bid, the more likely you are to receive the reward. The more the other participant bids, the
less likely you are to receive the reward. Specifically, for each franc you bid, you will receive 1 lottery ticket and
for each franc the other participant bids, the other participant will receives 1 lottery ticket. After both participants
make their bids, the computer will draw randomly one ticket among all the tickets purchased by you and the other
participant. The owner of the winning ticket receives the reward of 100 francs. Each ticket has an equal chance of
winning. So your chance of receiving the reward is given by the number of tickets you buy divided by the total
number of tickets bought by you and the other participant.

Chance of Receiving the Reward = Your Total Lottery Tickets
Sum of Your and Other Participant’s Lottery Tickets
If both participants bid zero the reward is randomly assigned to one of the two participants.
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After both participants make their bids, your earnings for the period are calculated. Regardless of who
receives the reward, both participants will have to pay their bids. So your earnings will be calculated in the
following way:

If either participant decided Don’t Flip in Stage 1:

If you receive the reward: Earnings = 100 — Your Bid
If you do not receive the reward: Earnings = 0 — Your Bid

If both participants decided Flip in Stage 1, but either participant decided Don’t Agree in Stage 2:
If you receive the reward: Earnings = 100 — Your Bid — 5 francs
If you do not receive the reward: Earnings = 0 — Your Bid — 5 francs

Remember you have already earned a $20.00 participation fee (equivalent to 2,000 francs). In any period,
you may receive either positive or negative earnings. At the end of the experiment we will sum the total earnings for
all 30 periods of the experiment and convert them to a U.S. dollar payment. If the summed earnings are negative, we
will subtract them from your participation fee. If the summed earnings are positive, we will add them to your
participation fee.

An Example
This is a hypothetical example used to illustrate how the computer determines who wins the reward of 100

francs. If you bid 30 francs and the other participant bids 20 francs, then you receive 30 lottery tickets and the other
participant receives 20 lottery tickets. Then the computer randomly draws one lottery ticket out of 50 (30 + 20). As
you can see, you have a higher chance of receiving the reward, 0.60 = 30/50. The other participant has a 0.40 =
20/50 chance of receiving the reward.

After both participants bid, the computer will make a random draw that will determine who receives the
reward. Then the computer will calculate your period earnings based on your bid and whether you received the
reward or not.

At the end of each period, the computer will display all decision in all three stages on the outcome screen.
Once the outcome screen is displayed you should record your results for the period on your Personal Record Sheet
under the appropriate heading. An example of the outcome screen is shown below.

You agreed to the Coin Flip: Agree ¢ (" DontAgree

The other participant agreed to the Coin Flip: Agree ¢ DontAgree

Your bid:
The other participant's bid:

Did you receive the 100 reward:?

Total earnings for this period:

IMPORTANT NOTES

In each period, you and another participant have the opportunity to receive a reward worth 100 francs. In
Stage 1 each participant chooses either Flip or Don’t Flip. If both participants choose Flip, then both participants
pay 5 francs and the experiment moves to Stage 2. In Stage 2 the outcome of the coin flip is revealed, and both
participants choose either Agree or Don’t Agree. If both participants choose Agree, the outcome of the coin flip is
made final and the payoffs are computed for each participant. On the other hand, if either participant chooses Don’t
Flip in Stage 1 or if either participant chooses Don’t Agree in Stage 2, both participants enter Stage 3. Then, each
participant submits a bid for the reward, and the reward is allocated by a random computerized draw. Are there any
questions?
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Appendix B (For Online Publication) — Additional Figures

Figure B1: Time Series of Conflict Expenditures by Pair, Exogenous-Free Treatment
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Note: Panels ordered from the top by probability of conflict.

43



Figure B2: Time Series of Conflict Expenditures by Pair, Endogenous-Free Treatment
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Note: Panels ordered from the top by probability of conflict.
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Figure B3: Time Series of Conflict Expenditures by Pair, Endogenous-Costly Treatment
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Note: Panels ordered from the top by probability of conflict.
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Figure B4: Probability of Both Opting-in vs. Conditional Probability of Both Committing
(Endogenous-Free and Endogenous-Costly Treatments, All Periods)
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Note: Each point represents the probability of opting-in and the conditional probability of commitment for a single
pair over all 30 periods; the lines plot smoothing spline fits to the data with 3 DF.
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Figure BS: Average Profits, Opting-in and Commitment by Pair and Treatment
(All Periods)
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Note: Each column displays the average of three variables for a single pair over periods 1-30. Colored bars represent
profits, black dots represent the opt-in rate, and black x’s represent the commitment rate, conditional on opting-in.
The pairs are sorted by opt-in rate with ties broken by commitment rate, and then profit to allow visual identification
of relationships between the variables. Note, e.g., that there is a strong relationship between commitment and profit
only in the Exogenous-Free and Endogenous-Free treatments.
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